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Compare this spectrum to hexane, which
hos both CHz ond CHz groups, to
0.4 cyclohexane, which has only CHa. To get
o better view, expond each region with
the Expond button.
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| Con you determine which pecks
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| overlay the spectrum of hexane.)
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1-Heptyne
Caon you determing which pecks
0.4 arise from the triple bond? (Hint:
overlay the spectrum of hexane.)
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Heptyl cyanide
Can you determine which pecks
04—~ crise from the nitrle group? (Hint: |
averlay the spectrum of hexoane.)
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Toluene
Exomine this spectrum
04— of toluene, then press
the arrow to continue.
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0.4 | Hexanol
’ Con you determine which peaks
arise from the OH group? (Hint:
overlay the spectrum of hexane.)
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Caon you determine which pecks
arise from the NHz group? (Hint:
overlay the spectrum of herane.)
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Heptaldehyde [
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Heptaldehyde
Caon you determine which pecks arise
02 | from the cldehyde group? (Hint:
overlay the spectrum of hexane.)
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: Con  you  determine

which pecks arise from
the ketone group?
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Heptanoic Acid

J—| Can you determine
which pecks arise
from the acid group?
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Butyric anhydride
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Butyric Anhydride
Con  you determine
02 which pecks arise ;
from the anhydride? h
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